Math 2153 - Autumn 2016 Name (Please print):

Quiz 10 Recitation time (Please circle): 1:50 3:00 4:10

SHOW ALIL WORK FOR THE PROBLEMS!! Unsupported answers might not receive

full credit. |

Problem 1 [4 pts] Find the center of mass (Z,7) of the upper half (y = 0) of the plate
bounded by the ellipse z2 + 9y® = 9 with density p(z,y) = 1+ y. (Hint: since the
e y-axis and the density p does not rely on z,

region is symmetric with respect to th
7 = 0. Then you only need to find §.) Do Not Evaluate the involved integrals but

you need to write the integrals as iterated double integrals.
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(There is arfother problem on the back.')



Problem ’2 [6 pts]  Evaluate the following integrals using a change of variables
H y _ m
| / /R y+2zx+1 d4,
where R is :the parallelogram bounded by y—z =1, y—z = 2, y+2z = 0, and y+2z = 4.
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